Unit 4 Lesson 6

Rational Equations

$$1. \frac{7}{7} \cdot \frac{6}{x} = \frac{3}{7} \cdot \frac{X}{X}$$

$$\frac{42}{7x} = \frac{3x}{7x}$$

$$\frac{42}{3} = \frac{3x}{3}$$

$$\frac{14=x}{3}$$

$$2.\frac{x}{x} \cdot \frac{4}{(x-7)} = \frac{6}{x} \cdot \frac{(x-7)}{(x-1)}$$

$$\frac{4x}{x(x-7)} = \frac{6x-42}{x(x-7)}$$

$$\frac{-2x}{x-2} = \frac{42x}{x-2}$$

$$\frac{-2x}{x-2} = \frac{42x}{x-2}$$
Created with Doceni

$\frac{-5}{x+4} = \frac{1}{x+4}$	LCD:X+4
-5=	$\frac{-5}{\times +4} = \frac{-5}{\times +4}$
	-55 Rx+-4
	Created with Doceri

4.
$$\frac{4}{(x+5)} = \frac{x}{6} \cdot \frac{(x+5)}{(x+5)}$$

$$\frac{24}{(0)} = \frac{x^2 + 5x}{(0)(x+5)}$$

5.
$$\frac{x-4}{4} + \frac{1}{3} = 6$$
 $\frac{3}{3} \cdot (x-4) + \frac{1}{3} \cdot \frac{4}{4} = \frac{12}{12}$
 $\frac{3}{12} \cdot (x-4) + \frac{12}{3} \cdot \frac{12}{4} = \frac{12}{12}$
 $\frac{3}{12} \cdot (x-4) + \frac{12}{3} = \frac{12}{12}$

Created with Doceri

6.
$$\frac{3}{2x} - \frac{2x}{x+1} = -2$$

$$(x+1) \quad 3 \quad 2x \quad 2x \quad -2 \quad 2x (x+1) \quad -4x^2 - 4x$$

$$(x+1) \quad 2x \quad x+1 \quad 2x \quad 1 \quad 2x (x+1)$$

$$\frac{3x+3}{2x(x+1)} - \frac{4x^2}{2x(x+1)} = -4x^2 - 4x$$

$$\frac{3x+3}{2x(x+1)} - \frac{3x+3}{2x(x+1)} = -4x^2 - 4x$$

$$\frac{3x+3}{2x(x+1)} - \frac{3x+3} = -4x^2 - 4x$$

$$\frac{3x+3}{2x(x+1)} = -4x^2 - 4x$$

$$\frac{3x+3}{2x(x$$

7.
$$\frac{6}{x} = \frac{1}{4} + \frac{9}{x-1}$$

$$\frac{4(x-1)}{4(x-1)} \cdot \frac{6}{x} = \frac{1}{4} \cdot \frac{x}{x-1}$$

$$\frac{4(x-1)}{4(x-1)} \cdot \frac{6}{x} = \frac{1}{4} \cdot \frac{x}{x-1} + \frac{9}{(x-1)} \cdot \frac{4x}{4x} + \frac{24}{24x} + \frac{24}{2$$

8)
$$\frac{(x+1)}{(x+1)} \cdot \frac{2x}{x-1} + \frac{x-5}{(x-1)(x+1)} = \frac{1}{1} \cdot \frac{(x+1)(x-1)}{(x+1)(x-1)}$$

$$\frac{2x^{2} + 2x}{(x+1)(x-1)} + \frac{x-5}{(x-1)(x+1)} = \frac{x^{2} - 1}{(x+1)(x-1)}$$

$$2x^{2} + 2x + x - 5 = x^{2} - 1$$

$$2x^{2} + 2x + x - 5 = x^{2} - 1$$

$$2x^{2} + 2x + x - 5 = x^{2} - 1$$

$$x^{2} + 3x - 4 = 0$$

$$x^{2} +$$

(N: Page 25:7-10

$$\frac{1}{3x-2} \frac{4x}{(3x+2)} + \frac{2x}{3x+2} \frac{(3x-2)}{(3x-2)} = \frac{2}{1} \frac{(3x-2)(3x+2)}{(3x-2)(3x+2)} = \frac{2}{1} \frac{(3x-2)(3x+2)}{(3x-2)} =$$

8)
$$\frac{5}{5-x} = \frac{x^2}{5-x} = \frac{2}{1}$$
, $\frac{(5-x)}{(5-x)}$ LCD: $(5-x)$

$$5-x^2 = -10+2x$$

-5+x² -5 +x²

$$0 = \chi^2 + 2\chi - 15$$

 $0 = (\chi + 5)(\chi - 3)$

$$X = -5 \quad X = 3$$

$$\frac{Q)(x+2)}{(x+2)} \frac{2(x-2)}{x-2} = \frac{2(x-2)(x+2)}{(x+2)(x+2)} \frac{3(x-2)}{x+2} = \frac{2(x-2)(x+2)}{x+2} = \frac{2(x-2)(x+2)}{(x+2)(x-2)} = \frac{2(x^2-4)}{(x+2)(x-2)} = \frac{3x-6}{(x+2)(x-2)}$$

$$2x^{2}-1x-10-(2x^{2}-4)=3x-6$$

$$-1x-2=3x-6$$
 $+1x$
 $-2=4x-6$

4=4x X=1

$$\frac{1}{(x-2)(x-4)} = \frac{x}{(x-2)} \cdot \frac{(x-6)}{(x-6)} + \frac{1}{(x-6)} \cdot \frac{(x-2)}{(x-2)} \cdot \frac{(x-2)}{(x-2)} \cdot \frac{(x-2)(x-6)}{(x-2)}$$

$$4 = x^2 - (x+2)$$

$$0=X^2-5X-6$$

$$0 = (x-6)(x+1)$$

$$X = 6 \quad X = -1$$

